ABLES o

A manufacturer produces nuts and bolts. It takes 1 hour of work on machine A
and 3 hours on machine B to produce a package of nuts. It takes 3 hours on
machine A and 1 hour on machine B to produce a package of bolts. He earns a
profit of Rs17.50 per package on nuts and Rs 7.00 per package on bolts. How
many packages of each should be produced each day so as to maximise his
profit, if he operates his machines forl at the most 12 hou@ a day?
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There are two types of fertiliser:
phosphoric acid and F, consrsts

testing the(soil cond1t1419 a farmer fmds that she needd

and_14 kg of phosphoric acid for her crop. If F, costy
R

BLES o
@F consists of_10% 1tr0ge and 6%
% n

irogen and 10% phosphori ac1d After

and F2 COSts

determme how much of each type of fertlhser should be used so that

Rents are met at § minimum cost. What is the minimum cost?
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